








//;e-writing the equation with the variable names, it \\\\ //;'RATIO 888.502431 \\\\

would look like this:
Everything on the Equation Statistics screen will not

TIME=47.07+10.03(DISTANCE)-. 30 (WEIGHT)-2.26(JOCKEY) be covered in this manual. However, some of the more

s 5 : important concepts will be reviewed to establish some
Hit return and in the next section you can check the working guidelines.
accuracy of this equation against your historical
races. : § 1. SS REGRESSION: This may also be called the "known"
oL (.5 8 T Y S T T A s i or "explained" variance. The greater this number
ACTUAL VS CALCULATED is in relation to the TOTAL VARIANCE, the more

accurate your predictions.
JO TOBIN'S TIME IN RACE 1 ! - : :
2. SS RESIDUAL: This may be called the "unknown" or
ACTUAL.........cc00vennn.. 70 "unexplained" variance. This is an indication of
CREOUTATRD i s i svans o - 705100882 unknown factors influencing your dependent variable.
DIFFERENCE. ¢vuibcvovvevn. —:11054218 The smaller this number is in relation to the
PERCENT DIFF............. -1.57934598E-03 TOTAL VARIANCE, the more accurate your predictions.
Remember our dependent variable TIME in Race (1)? Go 3. INDEX OF DETERMINATION(R-SQ): This measure will
back to page 2 and look at the Historical Data Table range from O to 1. The closer this number comes
and find JO TOBIN's TIME in the first race. His actual to 1, the better your chances of having an accur-
TIME around the 6 furlong track was 70 seconds. The ate prediction.
Regression Equation predicts that his TIME should
have been 70.110542 seconds. Using the information 4. CORRELATION COEFFICIENT: This measure will range
in the first race the 70.11 seconds was calculated from -1 to 1. The closer this number comes to -1
as follows (numbers rounded) : or 1, the better your chances of having accurate
prediction.

70:11 = 47207 ¥10.033(6) = .308(119) - 2.265(.21)
5. F RATIO: The F RATIO is an overall test of valid-

Use the return key and continue to review each of 3 ity of the equation. The higher this number, the
the next four races until you come to the next section. Q; better. Generally, anything over 4 or 5 will be
B DO e O acceptable. This number is used in conjunction
EQUATION STATISTICS with F RATIO tables found in most statistic books.
S RIGRESSION o st s bue s 294 ,689583 g This test can be seen on a graph. The farther out
B8 RESIDUAL . iv v i avdaeiesnovs 110556618 to the right of this graph, the less there is a
TOTAL VARIANCE.......vvvveeneenn.  294.799987 chance of your regression equation being random
or inaccurate. An F RATIO graph is shown on the
INDEX OF DET(R-SQ)....cvveennsen. .999624978 next page. Your F RATIO number is 888.5 and is
CORRELATION COEFF....i.c.s: .. .999812471 shown on the right side.
STD.ERROR OF ESTIMATE st owia. o5 +332500553
MEAN SQUARE........c.o0ceusnenn.. 110556618 6. T RATIO: The T RATIO is another test on the ind-
ZERO CHECK ON RESIDUAL........... =-1.1920929E-07 ependent variables. This will give the import-
DEGREES OF FREEDOM............... 1 and 3 ance each variable and is also used in conjunction

T RATIO tables. (graph not shown)
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